A B C A+B+C
1,834 822 241 2,897
4,982 4,673 309 120 334 3,861 =
4,982 4,673 309 120 3,861
139 145 6 124 2 219
1,273 1,214 59 59 51
9 5 3 3 0
803 796 7 7 116
10 10 0 0 6
115 115 0 0 22
552 543 9 9 318 3,746 2712
202 3,965 2,712
)
199 190 9 218
36 26 10 10
31 27 4 4
58 52 6 6 26
1,999 1,999 0 0
212 244 28 28 9 1
700 721 21 1,219 2,968
69 67 2 2
216,791 216,550 241 241 3,798
72 66 6 6 2
10544 10,065 479 312 1,616
1,430 843 587 814
61 57 3 57 60
8 4 4 4
2,807 2,977 1
—————
—
—
20 21
A B B-A
881 769 112
193 99 94
630 605 25
1,703 1,473 230




20 21 20 21
A B B-A B-A

5.01 4.12 0.89 15.00 20.00
11.60 11.07 0.53 20.00 40.00

9.5 10.8 1.30 250 35.0

382 424 4.20 350.0
0.637 0.637 0.00

89.3 92.3 3.00
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